
Conjuguer	un	verbe	aux	temps	composés	de	l'indicatif

Fiche

•	Les	quatre	temps	composés	de	l'indicatif	sont	formés	de	l'auxiliaire	avoir	ou	être	conjugué	aux	temps	simples,	suivi	du	participe

passé	du	verbe.

	Au	passé	composé,	l'auxiliaire	est	au	présent.	Exemple	:	j'ai	vu,	elle	est	venue

	Au	plus-que-parfait,	l'auxiliaire	est	à	l'imparfait.	Exemple	:	j'avais	vu,	elle	était	venue

	Au	futur	antérieur,	l'auxiliaire	est	au	futur.	Exemple	:	j'aurai	vu,	elle	sera	venue

	Au	passé	antérieur,	l'auxiliaire	est	au	passé	simple.	Exemple	:	j'eus	vu,	elle	fut	venue

•	Attention,	employé	avec	l'auxiliaire	être,	le	participe	passé	s'accorde	toujours	avec	le	sujet.

ils	sont	venus

elle	était	venue

elles	seront	venues
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